Answers to Selected Problems

Chapter 7

7.2(a) conventional payback period = 1 year

7.2(b) Discounted payback period = 1.17 years

7.4: Project A: $1,254, Project B: $1,334

7.7: $7,913.16

7.10(a): Project A: $18,546

7.13(a) i = 20%, (b) 2.5 years

7.19: Project A: $215.38

7.20: Project A: $1,595.07

7.26: $194,559

7.29: Project A: $988.91, Project B: $1,696.01, Select B.

7.35: Machine A: -$101,891, Machine B: -$89,971

7.43: (a) $7,644.04, (b) X = $24,263, (c) $11,625.63, (d) Select A2.

